



**Sirindhorn International Institute of Technology**  
Thammasat University  
Department of Common and Graduate Studies

**MAS 116: Solution for Problem Set 3**

**Semester/Year:** 3/2008

**Course Title:** MAS116 (Mathematics I)

**Instructor:** Dr. Prapun Suksompong (prapun@siit.tu.ac.th)

Exercise Set 3.3

②  $y = -3x^{12}$   
 Power rule  
 $\frac{dy}{dx} = (-3)(12)x^{12-1} = \boxed{-36x^{11}}$

④  $y = \frac{1}{2}(x^4 + 7)$   
 Sum Rule  
 $\frac{dy}{dx} = \frac{1}{2} \frac{d}{dx}(x^4 + 7) = \frac{1}{2} \left( \frac{d}{dx} x^4 + \frac{d}{dx} 7 \right)$   
 constant multiple rule  
 $= \frac{1}{2} \left( \underbrace{4x^{4-1}}_{\text{Power rule}} + \underbrace{0}_{\text{derivative of a constant function is 0}} \right) = \frac{1}{2} \times 4x^3 = \boxed{2x^3}$

⑫  $f(x) = 7x^{-6} - 5\sqrt{x}$   
 $f'(x) = 7 \left( \frac{d}{dx} x^{-6} \right) - 5 \left( \frac{d}{dx} \sqrt{x} \right) = 7(-6)x^{-6-1} - 5 \frac{1}{2\sqrt{x}}$   
 Linearity of differentiation  
 Power rule  
 $= \boxed{-42x^{-7} - \frac{5}{2\sqrt{x}}}$   
 $\frac{d}{dx} \sqrt{x} = \frac{1}{2\sqrt{x}}$

⑮  $y = \frac{x^{3/2} + 2}{x} = x^{1/2} + \frac{2}{x}$   
 $y' = \frac{1}{2\sqrt{x}} + \frac{2(-1)x^{-1-1}}{x^2} = \frac{1}{2\sqrt{x}} - 2x^{-2} = \frac{1}{2\sqrt{x}} - \frac{2}{x^2}$   
 $y'(1) = \frac{1}{2\sqrt{1}} - \frac{2}{1^2} = \frac{1}{2} - 2 = \boxed{-\frac{3}{2}}$

⑳  $y = (1-x)(1+x)(1+x^2)(1+x^4)$   
 $= (1-x^2)(1+x^2)(1+x^4)$   
 Repeated use of the formula

$$= (1-x^4)(1+x^4) \quad \left. \vphantom{(1-x^4)(1+x^4)}} \right\} (a+b)(a-b) = a^2 - b^2$$

$$= 1 - x^8$$

$$y' = 0 - 8x^{8-1} = -8x^7$$

↑ derivative of a constant function is 0  
 ← power rule

$$\left. \frac{dy}{dx} \right|_{x=1} = -8(1)^7 = \boxed{-8}$$

(40) (a)  $y = 5x^2 - 4x + 7$

$$y' = 5(2)x^{2-1} - 4x^{1-1} + 0 = 10x - 4$$

$$y'' = 10x^{1-1} + 0 = 10$$

$$y''' = \boxed{0}$$

(b)  $y = 3x^{-2} + 4x^{-1} + x$

$$y' = 3(-2)x^{-2-1} + 4(-1)x^{-1-1} + x^{1-1}$$

$$= -6x^{-3} - 4x^{-2} + 1$$

$$y'' = (-6)(-3)x^{-3-1} + (-4)(-2)x^{-2-1} + 0$$

$$= 18x^{-4} + 8x^{-3}$$

$$y''' = 18(-4)x^{-4-1} + 8(-3)x^{-3-1}$$

$$= \boxed{-72x^{-5} - 24x^{-4}}$$

(c)  $y = ax^4 + bx^2 + c$  ( $a, b, c$  constant)

$$y' = a(4)x^{4-1} + b(2)x^{2-1} + 0$$

$$= 4a x^3 + 2b x$$

$$y' = 4a(3)x^{3-1} + 2b x^{1-1} = 12a x^2 + 2b$$

$$y'' = 12a(2)x^{2-1} + 0 = \boxed{24ax}$$

66 (a)  $f(x) = \frac{1}{x} = x^{-1}$

$$f'(x) = (-1)x^{-1-1} = (-1)x^{-2}$$

$$f''(x) = (-1)(-2)x^{-2-1} = (-1)^2(1 \times 2)x^{-3}$$

Try to find some pattern

$$f'''(x) = (-1)^2(1 \times 2)(-3)x^{-3-1} = (-1)^3(1 \times 2 \times 3)x^{-4}$$

$$f^{(n)}(x) = (-1)^n(1 \times 2 \times 3 \times \dots \times n)x^{-(n+1)}$$

$$= \boxed{\frac{(-1)^n (n!)}{x^{n+1}}}$$

(b)  $f(x) = \frac{1}{x^2} = x^{-2}$

$$f'(x) = (-2)x^{-2-1} = (-2)x^{-3}$$

$$f''(x) = (-2)(-3)x^{-3-1} = (-2)(-3)x^{-4}$$

$$f'''(x) = (-2)(-3)(-4)x^{-4-1}$$

$$= (-2)(-3)(-4)x^{-5}$$

$$= (-1)^3(1 \times 2 \times 3 \times 4)x^{-5}$$

Try to find some pattern

$$f^{(n)}(x) = (-1)^n(1 \times 2 \times 3 \times \dots \times n \times (n+1))x^{-(n+2)}$$

$$= \frac{(-1)^n (n+1)!}{x^{n+2}}$$

### Exercise Set 3.4

$$(8) f(x) = \left( \frac{1}{x} + \frac{1}{x^2} \right) (3x^3 + 27)$$

$$f'(x) = \left( \frac{d}{dx} \left( \frac{1}{x} + \frac{1}{x^2} \right) \right) (3x^3 + 27) + \left( \frac{1}{x} + \frac{1}{x^2} \right) \frac{d}{dx} (3x^3 + 27)$$

$$= \left( -\frac{1}{x^2} - \frac{2}{x^3} \right) (3x^3 + 27) + \left( \frac{1}{x} + \frac{1}{x^2} \right) (9x^2)$$

$$= -3x - 6 - \frac{27}{x^2} - \frac{54}{x^3} + 9x + 9$$

$$= 6x + 3 - \frac{27}{x^2} - \frac{54}{x^3}$$

$$(12) y = \frac{3}{\sqrt{x} + 2}$$

$$\frac{dy}{dx} = \frac{(\sqrt{x} + 2) \frac{d}{dx} (3) - \left( \frac{d}{dx} (\sqrt{x} + 2) \right) 3}{(\sqrt{x} + 2)^2}$$

$$= \frac{-3 \left( \frac{1}{2\sqrt{x}} \right)}{(\sqrt{x} + 2)^2}$$

$$\left. \frac{dy}{dx} \right|_{x=1} = \frac{-\frac{3}{2}}{(1+2)^2} = -\frac{3}{18} = \boxed{-\frac{1}{6}}$$

22b

$$F(x) = x(f(x) + g(x))$$

$$F'(x) = (f(x) + g(x)) + x(f'(x) + g'(x))$$

$$F'(7) = (10 + -3) + 7(-1 + 2) = \boxed{7 + 7}$$

35a

$$\frac{d}{dx} \left( (2x+1) \left(1 + \frac{1}{x}\right) (x^{-3} + 7) \right)$$

$$= \boxed{\begin{aligned} & 2 \left(1 + \frac{1}{x}\right) (x^{-3} + 7) + (2x+1) \left(-\frac{1}{x^2}\right) (x^{-3} + 7) \\ & + (2x+1) \left(1 + \frac{1}{x}\right) (-3x^{-4}) \end{aligned}}$$